4 Step ∆H neutralization for an Acid or a Base
The following situations are exothermic:
· Acid dissolving in water
· Base dissolving in water
· Acid and Base reacting
· Fermentation
· Composting
· Digestion
· Combustion

When an acid reacts with a base heat energy is _____________________________________

Using a coffee cup calorimeter, 100.0 mL of a 0.50 M sodium hydroxide solution was added to 
neutralize 50.0 mL of a 0.50 M sulfuric acid solution.

The following temperatures were recorded:		Ti  = 21.5 oC 	and   Tf  = 26.0 oC
The BCE for this neutralization reaction is:

___________________________________________________________________________


What is the molar heat of neutralization for NaOH?

Sketch!

	






	
	
	
	




Calculate ∆H for NaOH:	You will be asked for either the Acid or the Base only!!!!!!!!
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Bianca performs an experiment to determine the molar heat of neutralization of a solution of
potassium hydroxide, KOH, by a solution of hydroflucric acid, HF.

She pours 100 mL of 0.150 mol/L KOH solution initially at 22.0°C into 150 mL of 0.100 mol/L HF
solution that is also at 22.0°C.

After mixing the two solutions, she notes that the temperature of the mixture rises to 28.0°C.




